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1) Why is the ring cut in two halves?

2) Where does the son go?

3) Who lives in the castle when the father dies?

4) What happens in the end?

































1) Why is the ring cut in two halves?

2) Where does the son go?

3) Who lives in the castle when the father dies?

4) What happens in the end?

With this ring, Johans can prove that he is the son of Lord Hallwyl 
and that he owns the castle.

He goes on crusade. He wants to fight as a knight. 

The monks live in the castle.

The son can prove that he is the son of Lord Hallwyl. 
There is a big feast.



The 3 estates in 
the Middle Ages
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